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Question Number : 1 Question Id : 9032017710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following which one 1s more suitable diagrammatic representation for

frequency distribution with continuous classes

808 636 DD SOHIO Ti)eas DerEdanddd DB BIrd|s a0
Options :

Line diagram

D&% Bard|eho

Bar diagram
2775 Bard|eb0
2. %
Component Bar diagram
5 0sFR06) 277D Bard|edo
3. % )
Histogram
Spvilge
4.

Question Number : 2 Question Id : 9032017711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The empirical relationship * Mode= 3 Median — 2 Mean® satisfies for the distributions
902708 N0D0B0 WTEE0 = 3 DBLNB0 - 2 DBLDIN @) VETENIVSE) D0
200

Options:



symmetrical

ke o)
1. %
asymmetrical
e a9a30)
2. %
moderately asymmetrical
S0 V0T DPadededd
3.v
for any distributions
DT DeTEdSne 5o
4, %

Question Number : 3 Question Id : 9032017712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person takes to reach his office from his house with a speed of 10 KMPH and returns in
the evening from hus office with 15 KMPH. then the average speed he mamtamns is

2.8 558 60 2063 008 8 ST EOArE THESEE 10 KMPH K0 e:ndooereh 00k
RFODOLS0 & FTI00H0 0B 15 KMPH & @8R e, e9:3¢% 980D sndum e
3o

Options :

11

12
2. ¢

3. %



Question Number : 4 Question Id : 9032017713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The rate of ¥4 litre milk pocket sold 1n the last four months 1s Rs. 8. Rs. 10, Rs.12 and Rs,
15. Assume that equal amounts were spent on milk by a family in four months. find the
average price in rupees per month

e renth Fod S Ya Oeb are 386 dden &r. 8, 8. 10, 812 0050 & 15.

b W uf oy o W, ! ]
e FOO 2,8 He0020 70 FH0 DT T D) Bod 2rRo0d, €00
T8 afiew GO (Gr.)

Options :

10.67
1.+

Question Number : 5 Question Id : 9032017714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The relationship between Arithmetic Mean. Harmonic Mean and Standard Deviation is
&905KeIed DN, FHIAE S OO (Ee/ [2r3redE DILes0 © e o Howodo



Options :

12 =M2+ &?
1. %

H? =M?- ¢’
2. ®

2MH = 2M2-g2
3. %

MH = M2-g2
4.

Question Number : 6 Question Id : 9032017715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

There are two bags A and B. Bag A contains 5 Red and 6 white balls and bag B contains 6
Red and 5 white balls. One ball is selected at random from bag A and without noting its color
placed in bag B. Then a ball is drawn from bag B at random and found to be white. Then the
probability for first ball is also white 1s

A 58050 B &% ot dothen Garyan. 90D A S 5 I8 B0 6 Bens) 20eHen
B0 D0 B 6 0 B0 5 Bexs) 20600 Gotran. 902 A o dirdydi%om
2.5 2208 J02E TAS0O SO $0KHe HOOSHOE V0D B & GoSaAS, ST 58,
D00 B 08 afrdydgor 28 2080 sSohathénod, 00N ®8 BT &)t
HBoceh0A. €9:))¢0 INAES 2088FE SO GOGErAE fod0arse

Options :
36/61

1.4

> % 231 51
30/132
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Question Number : 7 Question Id : 9032017716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘n’ persons are seated on ‘n’ chairs in a round table. The probability for two specified
persons sifting next to each other is

358000 2,5 HHoda) TS @ H0)0 §rd ) K. a0 DB Sedden 256858
(098] (298] BB )R 02T zed

Options :

2/ n-2

1/n-1

Question Number : 8 Question Id : 9032017717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A manager has two assistants. He bases his decision on information supplied independently
by each one of them. The probability that he makes a mistake in his thinking 1s 0.005. The
probability that an assistant gives wrong information 1s 0.3. Assuming that the mistakes made
by the manager are independent of the mformation given by the assistants. the probability that
he reaches a wrong decision is

2,8 D265 2B D:30H%en &0erd. FOES ()8 280 50 HS0|SOT ©0B0SES
QAT 0D @965 3 AV B0Z0ETED. @D 9 SS SIS PEaFeN TR H0ZF3e
0.005. QFADHIC ) )ch NPTPO0 BT D02TIzeh 0.3. DRED T )00 darchren
DN VTS 02080 BROE G 0DR TN, @S &) A0S $T)
®IFH0 )0 HOE.

Options :

0.48755

Question Number : 9 Question Id : 9032017718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A. B and C play a game. The chances of their winning 1t in an attempt are 1/4. 1/2. and 2/3.
A has first chance. followed by B and then by C. The cycle is repeated till one of them wins
the game. The chance for winning by A 1s

A B 0800 € 2.8 &6 ed@d. 2.8 (5008106 & TOT evdsaen 1/4, 1/2 80500 2/3 .
A & NG @50 G006, €3 ST 6b B, &3 ST 165 C & &0e008. FOS 258 R 0T
2050 TIZ0 T BaNe) 0. 90n) A § TOT @570 a0 &0d.

Options :

16/21
1.¢



2. %
3 % 4/21
4 % 1/21

Question Number : 10 Question Id : 9032017719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A and B are two-weak students of statistics and their chances of solving a problem in statistics
correcting are 1/6 and 1/8 respectively. The probability for these are making a common error
1/525 and they obtain the same answer. The pmbabiliry that their answer 1s correct 18

A B0 B e, 208 2057 FFoDETR dorsden HO0k F& FopdTR m{mm IV
50:3000 HBAGHS e {Ef}eJS“%'“PD SETT 16 580 1/8 00 a8 2.8 Frerdm €330
T 0029z 1/525 2005 T8 2,3 Qa0 F0AN, 0 ASFER0 ROV FTHEWE
PATOTARVT:

Options:

L 16

, v 15116

1/48

a4
N
o0

Question Number : 11 Question Id : 9032017720 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A random variable X has the following distribution
2.8 A0 )8 Hoord X, 1806 deradand $00 sod

X: 1 2 3 4 5 6
P(x): k 2k 2k 3k k2 2

-
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¥
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The minimum value of m such that P[X = m] = 0.5 1s
@0, P[X € m] > 0.5 o m 33ns), 00 Dewsd

Options :

I

Lh

Question Number : 12 Question Id : 9032017721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The density function of a random variable X is f(x) = kx}(1-x)%. if 0 < x < 1 and f(x) = 0
otherwise. The value of k 15

QPS8 WOTF X C30E) wPo(ed (2adaken f(x) = k(1) if 0 <x < 1;f(x) = 0 BE0T;
T &0EN0A. 0N k TR0E), 20

Options :



1. %
2/3
2. %
- 1/120
%
1/140
4. &

Question Number : 13 Question Id : 9032017722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let X be a random variable follows a distribution with density f(x) =e™+*/ 6. x>0. The
mean of the distribution is

X 930 2.8 OrSy0 % LoT T &0B0S.108, TR /ro|(e DIrEdani @d000S
fo=e*x*16, x>0 5O, & Derzd Tng), Afew

Options :



Question Number : 14 Question Id : 9032017723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let Y be the transformed variable of X with Y = a X + b, If the density function of X 1s fx(x).
then Y 1s fy(v)=

X 0308}, &raroesdo To& eTrd Y=aX+b § 606 j06. X 0ns). aro|de
a0 fir) OONS, Y 93O fily) =

Options :
1 (y—5b)
| b \ a
1. %
1 (v—a |
B B
2. %
1 [v—a ‘
15" b
3. %
1 (y—b)
fx |
3 i T
4. &

Question Number : 15 Question Id : 9032017724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The expectation of the number of failures preceding the first success i an indefinite series
of mdependent trails with constant probability ‘p’ of success 1s

D00 L) DB 2027936 ' LS50S (TP TE), ABHOE (FAS I3
20TV8 00 FNETEe) OB WOT

Options :

a/p

Question Number : 16 Question Id : 9032017725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The function of the variable that assigns unique real value to each sample point of the
sample space 1s called

R @585, 0T X G30E) (96 S D08 (HBEDN T Denedd
TEPON0T (DadChen & 0erd

Options :
random variable

Oﬁ?{fﬁg '{i] T:.«:A e CP‘?
1.4

expected value
EI0TIT® 2)0ad



distribution function
DB (2030

probability
Q02T f¢d

Question Number : 17 Question Id : 9032017726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Suppose a machine gun fire rounds for three seconds at a rate of 2400 per minute. The
probability of any bullet hutting a large target 15 0.40. The probability for exactly 50 of the
bullet hit the target is

2.8 T A0 QaalFR8 2400 1373))0) TR ) 2T T80 B304 @HF0TT0.
B WBS P 0T 3&)05 0279268 0.40. 50 20BETeN O TOOT AOZTed

Options :

0.48

5 0.0693

Question Number : 18 Question Id : 9032017727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Box A contains 8 items of which 3 are defective and box B contains 5 items of which 2 are
defective, If an item is drawn at random from each box. the probability that both items are
non defective 1s

275 AS 8 5000 &) a0, TS 3 ¢ EFONROM &) N B0 275 B S
S0HOY ETY0, DS’ 2 SHAPONROT STIO. (96 DB 0B 28 30
BPEYDIZ0TF | 000N, BOC HR0JEN 6 PN GOT H02F)3e

Options :

19/40

Question Number : 19 Question Id : 9032017728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The mean and standard deviations of 200 observations are 40 and 15, If two observations
among them 34 and 53 were replaced with correct values 43 and 35, then the corrected
standard deviation 1s

200 H0FoN0 Y NHe DO EFFDE Ddomren 40 Hoaw 15. FES Bod
5830500 34 O 53 OB HBS Venen 43 HBOW 35 & 50 T HBAGES
@areds /150 oo

Options:

14.34



14.52

14.87

14.97

Question Number : 20 Question Id : 9032017729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The probability of a man hutting a target is 1/4. If he fires 7 times the probability for lus
l]irrincr the target at least twice 1s

aﬁ‘ 568 05l TOOT H0grdze 14, @ 70 senjen 20aLNES, @ OFE)
£:0 B0 wa}“d‘p B60T HogTdze

Options :

1250 / 4096

1. %

4771/8192

4547/8192

2048/4096

Question Number : 21 Question Id : 9032017730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

A manufacturer, who produces medicines bottles, finds that 0.1% of the bottles are defective.
The bottles are packed in boxes containing 500 bottles, A drug manufacturer buys 100 boxes
from the producer of bottles. The number of boxes containin&no of defective are
Zage S a8 T ehoﬁj"émm 0.1% aren O Nrongor ) ) 05R
LR 8. 27380 500 2735 Sra DS 8 T, 28 TAS SArdTich vare
écﬁrém& 008 100 2380108 Fdffen Trd. O HSranaDNon: EO8 &) DHO
0D}

Options :

53
1. %

61
2.

Question Number : 22 Question Id : 9032017731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a precision bombing attack. there is a 50% chance that any one bomb will strike the target.
Two direct hits are required to destroy the target completely. How many bombs must be
dropped to give a 99% destroy the target

7)) 2r0en TS, AT 2.8 2r02n, O] TOOT eSS40 50% G008, O
PO TS0 TohERE Boch BT aren @080, 9% OFE) THS0 TAHTRE )
AN W)

Options :

8
1. %



2. %

10
3. ®

11
4. &

Question Number : 23 Question Id : 9032017732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let X be a number scored in a throw of a pair die and |1 1s mean of X,
then P[ [X—1| 2 2.5 ] <
X &R0 2.8 26 D50 D 00 7,6 & Tahadad Homs OO 1 e X Tn), Mifen,
©909).)C8 P[ [X-u|22.5] <

Options :

0.40

0.47

0.62

0.59

Question Number : 24 Question Id : 9032017733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

A man with ‘0" keys wants to open his door and tries the keys independently at random the
men of the number of trails required to open the door if unsuccesstul keys are not eliminated
from further selection 1s
D 800 &9 358 65 o) BT FE067 OGN B JoDE DG DaNH00
£ Sen Sofotadédd, den) BESTNS & 8 Ardydgor Sod K soldor
0D R IO BT ) o

Options :

n
1.

ﬂcz

n(n-1)

5
1n-

Question Number : 25 Question Id : 9032017734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If f(x)=(3+2x)/ 18 for2 < x <4, then the mean deviation from mean is
[DaARSD f(X) = (3+2x) /18; 2 <x <4, 008, DN ;DOG SIEN IS0

Options :

0.49



739 /729

Question Number : 26 Question Id : 9032017735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The random variable X follows B(n. p) then the Covariance between X/n and (n-X)/n is
OSPHD8 OTF X, Bnp) 2 ©adMGI0A, 00 Xin «nB05) (-X)n K¢ M aR)e

Options :
npq

1. %

pq/n

-pg/n

p/n
4, %

Question Number : 27 Question Id : 9032017736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



An item 1s produced in large numbers. The machine 1s known to produce 5% defectives.
A quality control mspector is examining the items by taking them at random. What is the
probability the at least 4 items are to be examined i order to get two defectives?

¥ oY =4 ¥ ] \"‘35 (ﬁ)q S, i 35 . ”ES\’
2,5 nda) Q) VOPIO dred e TOhACWE0EA. & ANOBO % © TFO Ged)ed TR0,

] s i v, < &y gy v : : S
5408 L0655 25E0 SEBOT SVHOD SNE HBIOVTYIH. Bodh STFed
W, o, v, vpb = T ¥V d . A

SPOSERE SN0 4 509 HBIO0TE) 1 02Tz J0eh?

Options :
1 ¢ 0.9928
0.9544
2. %
0.6728
3. %
0.50
4, ®

Question Number : 28 Question Id : 9032017737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Subway trains on a certain line run every half an hour between mudnight to 6 in the morning,
The probability that a man entering the station at a random time during this period will have
to wait at least twenty minutes,

S 6%“'0 2.8 f{)@ql 106 @dTE 08 GA0H0 6 508 5 158 edhoe%) SR,
& 5008 2.8 558 oGN8 HX0hoS PSS (W0, 50 283 Aaren F0)
OGSO GOGETE R02T8) £eb

Options :
2/3
1. %
1/3
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Question Number : 29 Question Id : 9032017738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let X and Y be two independent random variables each with geometric distribution

P(x)= pq*.x=0,1.2.... . the conditional distribution of X given X+Y is
X <0600 Y en Godso R 5e50(eh AIPGH)E SOTHONT GOk 06, (e 2,863 2rsaded
DerEdam P = pgt, k=0, 12, ... . @000 A0HOSE 51 S}erammx X B

@m{mm
Options:
Binomual
B 5D
Geometric
e DA
2_ W

Negative Binomial
200828 & £

Uniform
DEETHO

Question Number : 30 Question Id : 9032017739 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let X and Y be two independent Poisson variates. conditional distribution of X/ X+Y 1s
X 00 Y e Bodh diHole Fonsd DOTeNT G0%N08. AOROS 57
NETEAS X/ XHY (200830

Options :

Binomial

AL
1.4

Geometric

oy g

238 0e3 )
2. %

Negative Binonual
3 % |DErO O5IS

Uniform
4 % D5&FHO

Question Number : 31 Question Id : 9032017740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The two regression lines with regression coefficients byx and byy are perpendicular, then
&5 HEBNM €0 byx BN byy & Bk (BN Ten LOROT &0ErRE,
90)) ()

Options:

bx}r b}'x T ].

1. %



bx}-‘ b}rg e

2. %

bx}r b}'}( =0
3. %

b}p_,r b‘ v T 1
4.% 7

Question Number : 32 Question Id : 9032017741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let (xi.yi).i=1.2. .... S be a set of 5 pairs of observations with £ xi= 20. I xi = 60.

X yi =40 and Z x;y; = 100. The least square estimates of ‘a’ and ‘b’ in fitting the regression
line Y=aX + bare

(X6 ¥i).1=1,2,..., 5 @R 5 8©

) 83050 DS &' Tx=20,Tx2=60,5 yi= 40M)P~oﬁ:o
% xyi = 100. w3 %‘r\)op S50 @Ot & 18

Y= aX + b (9835500 Bo @08 %08 ‘a’ Bk’
BOLITEN
Options :
3.4
1. %
-3.4
2. %
3.-4
3.
-3.-4
4, %

Question Number : 33 Question Id : 9032017742 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let 11, x2. ... xa be a random sample drawn from a population, then the standard error of
sample variance is

1. ... Xp ORO 272 006 BTG GRS S SrTrT &odd 108, &), ST
DY Tg), (2rredd Batsin

Options :

a2 V (2/n)

G/\2n

Question Number : 34 Question Id : 9032017743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The random variable X follows Chi-square distribution with ‘n” degrees of freedom then its
skewness 1s

OSPS08 IOTR X, 12 deraedein ' e 25518 @dnB08, @) o)
SRS

Options:

n

-

n-



-2

n

V(2/ n)

Question Number : 35 Question Id : 9032017744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The characteristic function of a distribution is ox(t) = (1-2it)®2 . the distribution is
2.8 Darecisin TE), ers 38 D000 du(t) = (121622, & Jaredsm

Options :
[ (@)

1. %

9
A (1)

(@)

Gamma (1.1)
4. %

Question Number : 36 Question Id : 9032017745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The density of a continuous random variable X distribution is f (x)=kx(2-x), 0 <x <2, Then
the mean deviation about mean is

@0 DOTT x T0E) DaTFE (2ap0hen is fi=kr (21), 0<x<2.8:9)¢h difew o
TAIAVIRIRSTNe

Options :

Question Number : 37 Question Id : 9032017746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

To=t( x1. x2. ... xa ) be an estimator for the parameter 6. limp~xP[ | Ta-0|< €] > 1 then
the estimator Ta 15
Te=t(x, 1, .. Yo ) SDOG DTN 6 @) WOIT I, OO limy s P[|Ta-0]<e] =1 @00

LOUTT Tn
Options :
Unbiased
Q)5 redo
1. %
Sufticient
A0 eH



Consistent

DEIA
3. %
efficient
NP0 FeHE
4, %

Question Number : 38 Question Id : 9032017747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let x1. x2. ... ¥y be a random sample drawn from a U(0. 8) then sufficient statistic for 0 1s

—

X1, X2, .. Xn OSPGYO)E S0 U(0.8) 008 eS8, & HT0E 08 30y

G sufficient) ar0greEain

Options:
X Xj
1. %
2. % X
X(1)
3. ®
X(m)
4.

Question Number : 39 Question Id : 9032017748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

P[ Reject Hp / when x 1s observed ] is

P[ Ho b 3838000 /x & Hedoede) ) | =
Options :

o

Question Number : 40 Question Id : 9032017749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The standard error of standard deviation 1s

rSredE DderdSo FBn¥), [rSred ¥ &850

Options :

G/
1.4

G/N2n
2. %

c2/2\n



Question Number : 41 Question Id : 9032017750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assume the symbols having their usual meaning in attributes. N=1000. (A)=600. (B)=500.
(AB)=50. Examine the consistency in data
SEodan dn o) 08 408 Do derodod,; N= 1000, (A)=600, (B)=500,
(AB)=50 OFFOai) 8eh 30 o H08 0508

Options :

Consistent

DO
1. %
all ultimate class frequencies are positive
29 €90e3a3) 5GNed FFed2ad)er 00 a0 S 0LF O
2. %
inconsistent
rSTeFutinten
3.¢
can not say
T Bed
4, %

Question Number : 42 Question Id : 9032017751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The class of combination attribute (AB) of attributes A and B 1s
A SOOI B o e $e0ns o8 200 (AB) 3308} ¢88Hed (Sedoadw
Options :

Zero order frequency
28 1Z5050 Dd:yeaso

1. #
First order frequency
F0EET |Ea0ad0 a0
2. %
Second order frequency
TOCad ($e2000) D)€ SO
3.¢
Third order frequency
S°CH0d [Soed) B rdia)E L0
4. %

Question Number : 43 Question Id : 9032017752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For an examination. 800 students of boys and girls appeared. The boys outnumbered the girls
by 15% of the total. The number of students who passed exceed the number failed by 480.
Equal number of boys and girls failed m the examination. Based on Q. the success and gender
are

2.4 508 850, 800 008 2rend BN 2rdEen sFEdosPa. er)onen @XFome L0
D5 ST Ido S 15% 00 GT. &8dS FO0AS IThe Hopg 480 $H0O
2ONOARD. 7 N0 areerdben S85S Dond eair:d. Q srdor, dEcho
B0k Solio

Options :
independent

2 5501€h S0eN
1. %



Associated
€9, 0220050

Positively Associated
7€ 590 T @cD0B S0
3.¥

Negatively Associated
200ET7EB 25200 T 22,0230 B30

Question Number : 44 Question Id : 9032017753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The relation between Yule Coefficient of Association Q and Coefficient of Colligation Y 1s
S Fan0H08 &5 eFATHNS Q HB0M ENNcHoE &5 FORIS Y %5 902080

Options :
'jr’—le2
1. % e
Y
Q= , w2
1+Y
2.
b4
= 2
1+%¥

3. %



2Y
L%

Question Number : 45 Question Id : 9032017754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
For testing the hypothesis. Ho: [11= 12 vs Hy: [11< 112 . due to injecting a drug, the increasing

m BP m 12 patients : 5. 2. 8. -1. 3. 0.-2. 1. 5, (. 4. and 6 the test statistic value 1s
2,556 20E5 TS0 90, 12 506 FHOS £, 2. M08 5. 2, 8, -1,3,0,-2, 1, 5,0,

4 8050 6. Hy: m=1u vs Hy: 1< 1 9050308960 H08 00 810 58, Keroser densd

Options :

Question Number : 46 Question Id : 9032017755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



When sample of size n 1s large. the 95% confidence limits for the proportion of defectives
based on sample proportion for defectives (p) 1s

N’ HOSTEIO ST (1) DT 5919760, B S (p) 8 95% e HBehe8
SRR Sasne NS erdorr,

Options :
-
p +1.96,[F1
v \ n
|'_
p+1.65,/29
1‘-' i
2. ®
—
| pq
a+ 165 [
3. %
'pq
1 96 %
‘1'||| H
4. %

Question Number : 47 Question Id : 9032017756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The statistic T(x) 1s said to be median unbiased estimator of w(0) if
T(x) romsEai w(B) By 0sNed Qar)8 & @oddarm T J2&

Options:

E[T(x)]=w(6)

P[T(x)<wy(8)] =1/2
2.¥



Max P[T(x)]

all
@Fd&cﬁjj

Question Number : 48 Question Id

: 9032017757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If x = (x1. x2. ... xp) be the vector of observed independent random sample from P() then the

variance of the estimator 1s

IR0 1= (x1. 12, ... Xn) (0RO 550(eh ARSI darar o PA) 00 SBNEDS,

®ovd Em%. ECJU &

pors

Options:

None
A= ot)

Question Number : 49 Question Id

: 9032017758 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Let x = (x1. x2. ... 1) be a random sample observed on a random variable X and let T(x) be a

random function defined, T(x): $®— R, a real set then T(x) 13 called

; = ('1 2, ... %n) B0 OG0 SOTT X D HDhon CIPGYNIE ST
) Jrfg 200 T(x) A OIPSYDIS 1D ”‘{’_’)ﬂdo&m’)ﬂu&_ T(._): S" = R,

r\)?f;@ e e 5ed T(x) @oerd

Options :

random variable
W ARTAREE NS 0z

statistic
O £8a000
2.
estimate
0T
3. %
parameter
HTEes
4, %

Question Number : 50 Question Id : 9032017759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



X1. Xo and X 1s a random sample of size 3 from a population with mean value |1 and variance
6 T1. Tz, T3 are the estimators used to estimate mean value |1 where T1 = Xi+X2-X3: To=
2X1+3X0-4X3; Tr= (X1+X0+X3)/3

X1, X2 00050 X3 9560 GHen 00 [1 0050 dy@ 62 &d) Zarer D0 HOSFR0 3
G30E), QSPSYR)E NP, Ty, Ta, T3 9 LD e 1t & SO JICHERE &IOS
@0ouire, 28)¢ Tr = XitXo-Xa; To= 2X143X0-4Xs; Ti= (Xi+ X0+ X3)/3

Options :

T1. T2 and T3 are equal variance estimators
T1, T2 o000 T3 NadPrd adndged 0TITren

1. %
T1 1s best estimator
T1 #5525 esodar
2. ®
T> 1s best estimator
. T2 €530 905"
3.

T3 1s best estimator

T3 €53 @O0
4. <

Question Number : 51 Question Id : 9032017760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let x1. x2. ... xp be a random sample of size n drawn from a population with density
f(x.8)= (1+8). x° where 0 < x < 1. the sufficient statistic for B is

X1, 12, .. m &R DOATE0 n e ASPSID IS T Do) f(x,0) = (1+8).x° 2%
0<x<1 &) TIHBAS D0 S0EDES 0 Shdos Fropsien

Options :

L%
1.4



=1

2. ®

xX/n
3 %

E Xi
4, %

Question Number : 52 Question Id : 9032017761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let x1. x2. ... xp be a random sample of size n drawn from a population with density
Fx.of) =P e BED swhere o < x < =, f > 0. the maximum likelihood estimate for the
parameter ‘0’ is

X1, X, ... Xg O30 0|0 f(xef) =P e FED) 9% a<x<n p>0 &) aer od
S0 HOSTE0 @ L) PGIDIE SFFTTE GOGAS 0B, | "o HTee) Ty (B
02T ed BOTHT

Options :

X
3 @ (1)

X(n)



Question Number : 53 Question Id : 9032017762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The test statistic Z for testing Hp: 61 =62 vs Hi: 61 = G2 1s
D085 Hyoi=oavsHigi=G: 507 ;injé oS0

Options :
S; 753
—
a8
\ n n,
1_%5
| 7
0] O3
RS V8
\'ﬂl n,
2.
Sy — 8,
fl ¥ 2
a o,
I| E S
\2n, 2n,
3.
slfnl
s5/n,
4, =

Question Number : 54 Question Id : 9032017763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In Mann-Whitney- Wilcoxon U-test, the varlance of asymptotic normal distribution of U-
statistic 1s
DS-DES- Ve ES UNBES, Uaromsssn By 297 H0&re) AFde SO )
Dy

Options :

niny/ 2

nmy + [ na(np +1) /2 ]

2 %®
ning (np+np +1) /12
3.¥
nm (n1+ny)/ 12
4.

Question Number : 55 Question Id : 9032017764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In Wald-Wolfowitz run test. the distribution of R runs ( in case of even) P[u=2k]=
FTO-TSHDE 85 TPS” R HdHo% Derzddn (98 Hde Dadhos) Plu=2k] =

Options:

i} nl i n? Cyx/ {nl +n?}) C a1
1.

(nl _UC K (n2 -l){:\k (nl +n2) R



@ -De @Dy, /@l+n) o

2@-De @Dy, @+ ¢,

4. &

Question Number : 56 Question Id : 9032017765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The distribution of nominal observation used 1n Sign test is
W, £ o nr S b .o 4 WL, W : 2
HOBeS HOE S SHTFAOT araAT (€5 D8RS © DeFr22e55m

Options:
Normal
oo
1. %
|
2. #

Chi-square

12
3. %
Binomial
afeeln!
4, &

Question Number : 57 Question Id : 9032017766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The order statistics based statistic among the following
1208 ¢3S es8sea 500 rowsien errBeb arowsEsnen

Options :
Median
DG 5H0
1. %
Percentiles
FrEeT )
2. %
Quartiles
5650005 500e
3. %
all
AN OV
4, =

Question Number : 58 Question Id : 9032017767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In one sample of § observations. the sum of the squares of deviations of the sample values
from the sample mean was 84.4 and in the other sample of 10 observations it was 102.6.

The test statistic for testing whether the samples are homogeneous 1s

8 50303050 TE) 2.8 SAFTE’, SFOB HEEN KH0B ST DS VSO SeERS[Ere
00 844 SO0 10 H8305e) TE), HFE SHETS’ 2B 1026. SSrFTen Herachor
&) O3 B8 D88 038 arch 08 Rrowedsn

Options:



11.4

1.057

0.657

Question Number : 59 Question Id : 9032017768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The correlation coefficient of 625 sample observations is 0.2. the test statistic for testing

Ho:p=0vsHyi:pz0
25 ST 90PN DT0208 K189%0 0.2, 0w HBE §90 T HB8 ropsdsm

Options :

0.125

5.09

Question Number : 60 Question Id : 9032017769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The mean of a sample of 900 observations 1s 3.4 cms with a standard deviation 2.61cms, for
testing whether the sample drawn from a population with mean 3.25 with standard deviation
2.61 cms , the test statistic value is

900 ST 69090 TE), 60 3.4 0.0 [FIreIE DSOdo 261 20.20e, e 325
200000 5) 2T 0B SIF 261 0.0 R dodod achados B8
08 058, HOF RroPessn e

Options :

0.15
1. %

I.73

1.96

(]
"
I

Question Number : 61 Question Id : 9032017770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When n1 and n2 are large in Mann-Whitney U- test. the mean of U is
0S-2¢3) U- H0E.S” nl OO0 n2 DA €553 53160, U TB0E}, HEEN

Options:

(ni+mp)/ 2
1. %

[

(ng-n2) /
2. #



ninz2/ 2
3.

nin?
4, %

Question Number : 62 Question Id : 9032017771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The mean and variance of an exponential distribution with density £ (x) = 1/2 e : x> 0 are
T8 DTN QRs). AP0l f()=1/2¢*2 ;x>0 B0E) 0 T A OO e
DOV

Options :

Question Number : 63 Question Id : 9032017772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The design in which there is no restriction on principle of replication is
|o0e3070Ed (503 00aled B Sdad



Options :

Completely Randomized design

., DOSTE ArSIDE B8 T oSNE HBS
1.4

Randomized Block design
AIPAHD )8 O Eded

2. %
Latin Square Design
eI THeB S| OHd
3. % i
in all the designs
DTS @) BssereS
4. %

Question Number : 64 Question Id : 9032017773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The formula for estimating the missing value ( b blocks. k treatments) in Randomized Block

Design using the principle of least squares is given by

2 59 ArE) SNErAoD RGNS S8 B30 D B0t SoHER8
e B 1508,

Options:

(bB';+kT';i —G") / (b-1)(k-1)
1.9

(kB'i+bT'i —G") / (b-1)(k-1)
2. %



(B'+T'i —-G") / (b-1)(k-1)

(B'i+T'i-G') / (b-1)(b-2)
4. %

Question Number : 65 Question Id : 9032017774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The assumption for testing treatments and block effects in randonuzed block design 1s
SIPC)% 20 &9 & D0 165;063) €0 OO DOGBNG [Herarer §0 GHT

Options :
Both fixed etfects

SO VS |HaTaTren
1.¢

Both are random effects
slela N VA RT AR IPAEAPNE DY

2. #
treatment effect fixed and Block effect 1s random
163223065 ) 19927590 HBALB0DE0E 2805 0 [H25%0 AIFSHD EorT
&GotNo5

3. %

treatment effect random and Block effect 15 fixed
163823065 ) 1527590 OSPSID )E0T SH005D PO 1270 J8:3).005E0E
4. %

Question Number : 66 Question Id : 9032017775 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Relative efficiency of LSD over CRD is
CRD ¥07%) LSD G3w%), ol arsnd:o

Options :

S; +(r-1)S;

1‘82
1. %
S £82 4 (c-1)82
(x+1)S;
2. %
S; +(r-1)S;
1‘85
3. %
42 52 v2
Sz +S, +({r—1)S,
(r+1)S;
4, %

Question Number : 67 Question Id : 9032017776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The degrees of freedom for error sum of squares in Randomized Block Design with 9
treatments and 3 blocks when one missing observation is estimated. 1s

28 $)F00d HOION @0 SahaASD 9 (€58;06) HB0M 3 DOGSHOS
OIPBDE D0 856 SR E e H85n JnzR8 Ry A



Options :

26
1.%

25
2.

15
3. %
a.% 16

Question Number : 68 Question Id : 9032017777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Latin square design controls
3 5 Lo - SRR
ee3S 50 G55 QoDolsdeaen

Options:

Two way variation
SO 7P 08a0ehen

two way restrictions
DO T ) €0e0
2 %

treatments are orthogonal to each other
5 o (=
18320085 2.8RE %S @025 ™ Goeron
3, ¥

All
@ﬁj&ciﬁ}:u



Question Number : 69 Question Id : 9032017778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Selecting a sample of size n from N population units (N=nk) using systematic method of

sampling

ST I QB GITPAOD N Z2r OrA (N=nk) D0 H0TE0 n B
NPT DO S0

Options :

Selection of n continuous units
n D30e5S CRFRL) JO0E

1. %
Selection of n equi-spaced units
n S8 5000 ORI DODE
2.9
Selection of n largest units
1 ©e3 G OV 08
3. % :
Selection of n middle units in a sequence
2.5 550065 0 5088 CrDL) DO
4. %

Question Number : 70 Question Id : 9032017779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The total number of possible samples of size two units drawn from a population of 10 units
using with replacement is

SONTE) DS GITrAD 10 CPAL 27rer oG Boch CFAE HBXrEO Ko
SETTOD B, 0O DT 0D

Options :

1“(.‘1

Question Number : 71 Question Id : 9032017780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When N=nk., the variance of sample mean V( y__) 1s

N=nk 902033 )C8), cdedra 1fe0 TBE) DY V(Y. . )

Options :
N_lsl _.k(n_])sz

N n v
1.

N-1 2 n-—1 2

Wy
n ’

2. %



(N = ﬂ.) S]

3.« N
k(in—1) S
N -
4. %

Question Number : 72 Question Id : 9032017781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The variance of y . V( y ) stratified under random sampling, proportional allocation and

optimum allocation hold the correct inequality
OSPESE)18 SadRT, E90yared BEFON0R) BN a0k Jeronose 8ol
NBEBOSHAES DB V(F) ) Ty 1208 FAS B 05T EONS

Options :

V(¥ dran= V(7 dprop= V(¥ Jopt

1. %

V(7)) V(7 dprop> V(7 Dot
2. ¢

V(¥ )z V(Y Jprop= V(Y Jopt
3. %

V(7 )an< V(7 prop= V(7 Jopt
4. ®

Question Number : 73 Question Id : 9032017782 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The variance of sample mean y of a simple random sampling with and without

replacements satisties
SO0 T 0O BOATE )N FrTdes ASFGIDIE derme © By Ot BwE),
DDeen 808 T3S DEID D0y Toehod

Options :

1"\-"'1?[1‘( T Jsrswr = Vﬂl‘( ‘? :ls:mor

1. %

Var( v Jsrswr < Var( ¥ srswor
2. %

Var( v Jsswez Var( ¥ )srswor
3.¥

Var( ¥ )sswor= 1/ Var( v )swur
4. %

Question Number : 74 Question Id : 9032017783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Population consisting of N units, divided into k” Strata each strata contains Ni units. A
sample of ‘n’ units are selected from N uvmts under proportional allocation. then nj is
proportional to

N OOrAOSE Srdd 2mrard | ¥ [erT 22520tnd08, (58 | M ahrat $On
GOEN0D. @S Teronos) HORS N oHrAL H0d 1 I SOFT  JoNS
DohcS08, @and & H_ ODSErdTraos Gotnod

Options :



1. ¢

1/ Ni
2. %

n/N
3. %

ny' Nxn
4. %

Question Number : 75 Question Id : 9032017784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The factor reversal test satisfies the condition
5258 B K0 DBY. DOV DOYIRNOA

Options :

Po1 # Qo1=1

Po1 x Qo1= Vi
2.

Po1/ Q=1

P10 x Q10= V1o
4, %



Question Number : 76 Question Id : 9032017785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The secular trend indicates
(] " Y, o, W,
1B0d S 235755y E35E3 Q LFDoA
Options :

Constant rate of change
VE0S S0 Bew

1.9
Constant rate of growth
2w oA =
%Jf_{:@m‘l {QEJ';;' @AY
2. %
Change in geometric progression
Bariiedes HTRRS Sr&d)
3. %

Exponential rate of change
Sy BBwE), drerod Bew

o

Question Number : 77 Question Id : 9032017786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Irregular Variation in a time series are caused
D009 3SS, 1E085r 5050, (800 ¢3S BASOS B0

Options :



lockouts in a factory
58S erFSen

1. %
war in a country
505 osndo

2 ®
floods in the states
TArS” JSSen

3 #
all
@f’-&&dﬁ})

4, &

Question Number : 78 Question Id : 9032017787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The curve v = aff* stands for
S|ES0 v = of* 0Ty

Options :
Exponential curve
Feh oI Sead
1.4 i
Gompertz curve
- Ao, &

Logistic curve
er23 8 SEaw
3, %



Power curve
P NVIOTINTE NN

Question Number : 79 Question Id : 9032017788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Detlation of index numbers meant for

1063 (S0 AFD) DOWES  HDI0DB0
Options :

real wages
TS FeBrTEeN)

1. #
income of money
C320)) Srao
2. #
real income
D) E3TPA0
3, #
all
ety
4. &

Question Number : 80 Question Id : 9032017789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The Dorbish-Bowley price index formula is the
C30122-2370) OO )8 A edo
Options :

Geometric mean of Laspeyre’s and Paasche’s price index formula
P RIONE BOK TR B AFDE TS0 Ty, 230D Keded Hew

Arnithmetic mean of Laspeyre’s and Paasche’s price index formula

v 700050 SO0 ar ) OB HTDE DFed0 A3nE) eso8Nedes Hifewn
2.

Weighted mean of Laspeyre’s and Paasche’s price index formula
eF 00D SHBON TR OB DS T 50 TINE), e

Harmonic mean of Laspeyre’s and Paasche’s price index formula
e )05 OO ) BB HrDE A0 M) T8 Hiewn

Question Number : 81 Question Id : 9032017790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the group indices are 80. 120 and 125 and therr respective group weights are 60. 20 and 20

the consumer price index is
QadTaT ATSEN 80, 120 BOR 125 a5 763 020EE DT 2N 60, 20 DO
20 80N HARTHTD A FDE

Options :

108.33

97.00



w9849

96.84

Question Number : 82 Question Id : 9032017791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The cost of living index number 1s (let wj= poiqo;) in the usual notation
25 0% ar)E Dows (let wi= pojqo;)

Options :

TS T, AR
Z Wiy /1 & WiP

1. %

L wipj / X Wiqoj
2. %

X wip
3 % iPi

Zwipj / X wj
4. &

Question Number : 83 Question Id : 9032017792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The price relatives for three commodities are 125, 120 and 130 with their respective weights
5.w and 8. If the price index for the set is 1125.25. the value of w is

S SHO T OSeN 125, 120 HOOM 130 ¢5 0200 DIEN 5, W SO 8.
DT A8 Aros 112525 900, W Qe

Options:

Question Number : 84 Question Id : 9032017793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

When National Sample Survey Organization was started in the Finance ministry
Elﬂﬁg&ﬁl "-Buvl, ,:5'53«.\«{:;? 9‘5“6" é‘ évfs‘{‘ _ch- (5 oo
2908 00[edeh § TP Todd® T0)O A0 [ BOJ Bl o) O [ar002J0)d

Options :
Januatry1950
200D 1950

1.4

May 1951
0 1951



March 1955
a5 1955

Aug 1958

e3fied 1958
4, %

Question Number : 85 Question Id : 9032017794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Central Statistical Organization functioning.
20186 TeINES 80T BAS HeI,

Options :

Compilation of national income estimates

, 2735 E3TTPO% 0T HoZerdo
1.4

conducting annual surveys
0% HT 1o A0S0

collection of Socio-economic data
araaress-esDE @Wer b

Guidance of states i the conduct of surveys

. a o6 o _ )
. DB 50 QS eSO aled 1058386 co

Question Number : 86 Question Id : 9032017795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The ratio to trend method will identify the median of trend free indices for each period
represents

;\F\réﬁgav.g-{_\é \/F-.mlogbg fév °}E< vdrj? \%v\(ﬁ}v a_\v v 5}
B08 Q638 D) )L DOC [2ed TerS [BI0E (o) LSO s DQLNEBNAD ATIOD ATr

Options :

Seasonal indices
SEE P DED TS e
1.4

cyclic variation
HEaH 350

Irregular variation
18edodared S0
3. %

Secular trend
eT8% £5563

Question Number : 87 Question Id : 9032017796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The simple average method is used for finding the component in time series analysis is

W (] o o W W oy
Doch 38 DS %08 FES ) SOMIENd Frrde Aty HO8
Goairiodiachenod

Options :
Secular trend

Er5S) E563
1. %



Cyclic variations
805 BATEEn

Seasonal indices

3 Sre e arcgen

Iiregular variations
1Sendared JPesen

Question Number : 88 Question Id : 9032017797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of sales of woolen coats 1s more i winter. 1t 1s associated with which of the
following component of a time series

305008 G Fene JE0Ee Homs JEST G0enod. 30 H0H S 8od e
TS 2020850 EOf &0enod.

Options :

Secular trend

Er8%y B8

1.
Seasonal variation
SPee DD PAOF0
2. ¢
Irregular variation
Be0dared S50
3. %

Cyclical variation
5]
DS0D JDGEO
4, ®



Question Number : 89 Question Id : 9032017798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pasahe’s index uses the weight of the
T3 ArDE 5 D 2B EOTErEAES

Options :

Current year
Db HOSed YO0

1.9

Base year

&35°0 V0SB0
2. %

any chosen year

£ gk ¥ R

20BN DB 095350
3. %

Average of years

0BT ONED
4. %

Question Number : 90 Question Id : 9032017799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The value of NRR less than one is indicative of

2,863 50T 650769 NRR ens5ed Qrdenod

Options :



Increase i population
2> Hhde

reduction in population

5 2027 €40

consistency in population
8
2orereS & o
3. %

All
@@C‘Lﬁ‘i}n

Question Number : 91 Question Id : 9032017800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Crude Birth Rate 1s the ratio of the number of  x 1000
1555 200 B 0T AA)e  x 1000 HOHE

Options :

Total number of births during a year to the total population during the same vear
. : ] Y, ) b
&3 D03 306 Fno 2irerdh 2.8 N0 1008 JBo BdTE HoW;

Total number of live births during a year to the total mean population during the same
year
&% H038)508 Jndo HHew 2erdy 28 NS )506 Jndo 1HSE BSTe
0D

2. ¢



No. births to the population during a period
2,8 505 2750 DOPE SoTeN

Total number of births to the total population
F0B0 27727750 JNBO 20577 DOWE

Question Number : 92 Question Id : 9032017801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The relation between central mortality rate my and force of mortality |ix 1s
3018 S0deTer B mx o0OOK0 sDGeTed 48 1y 0858 Ho20SO

Options :

mx= Lix + %2

1.4

mx= %2 Lx+1

My — 1! {'_LT‘; 2 ““i"'lj

Mx = '.L'{ + 15 LK

Question Number : 93 Question Id : 9032017802 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Crude Rate of natural survival increase 1s
Q572 S0 DRSS Ty S Tew

Options :

GRR-NER

CBR-CDR

TFR x NRR

no of births / total births
2O QOPS / SN0 220970°CN

Question Number : 94 Question Id : 9032017803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The probability of surviving age x to x+1 is in the usual notation
SO x DOG x+1 DO BNOBD NOLTIEeH O NOTITFI0S &0EN0D

Options :

1/ I
1.4



Iy=1 -1l /Iy
2. ®
o (et ¥l )
3_ e
.'F X+ : JI, X
4, %

Question Number : 95 Question Id : 9032017804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Number of persons living above age x 1s (in the usual notation)
5030 x 0T 8070 BI0D 050 H:80er HoPE (PO DO STNH0S)

Options:
T}L': L_j_'+ LI—JT s

1.4

T}; =L1+ [ X

TK = L;l+ 12 .!'_j;

Ty =Ly+1 - Ly

Question Number : 96 Question Id : 9032017805 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The non-parametric equivalent of an unpaired samples t-test is
265 TDODR) 007 t-IOE B DT DS @ardad e3cs HBE

Options :
Sign test
e H6E
1. %

Wilcoxon signed-rank test
Dex) 838 e oopos HBE
2. ¢

Mann-Whitney U test
505-De3) afo HBE.

Kruskal Wallis Test
150 S O HOE

Question Number : 97 Question Id : 9032017806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Minimum variance of the estimator can be obtained from :

2903 TBE), D DNYB D A oS FodSTH):

Options :

Crammer Rao inequality
|5%a00|Ta)) E9r0a)Tr0es
1.



Method of moments
Dresfer Ded

Consistent estumator
= W L
DO oS

Method of maximum likelihood estimator
0m R02THeh SOOI B wled
4. %

Question Number : 98 Question Id : 9032017807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

An estimator 1s to be consistent. the unbiasedness of the estimator 1s:
QO B O VOO &OEF0T), @0win® L) Aar) 8 &b

Options :
necessary
| % 3OO
sufficient
A0 eH
2. ®

not necessary
293 B0

all
NG

=



Question Number : 99 Question Id : 9032017808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most of the Non-Parametric methods utilize measurements on:
000300 DPeen e SO b0l cradiriochivotron:

Options :

Interval Scale
@56 @0ehTre) LS

1. %
Ratio Scale
Qe S
2. %
Ordinal Scale
eSS S
3.
Nomunal Scale
TS S
4, %

Question Number : 100 Question Id : 9032017809 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For the confidence interval for ratio of variances of two normal population mvolves
B0 PTrOE (D270 G308 A © w8 §h0 T ATWN0 §0

Options :

1.4



% distribution
12 2T e

F- distribution

F- a)2523c)e)
®
t- distribution
t- 2T
%
beta distribution
DT Dereeissn

.



